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1.2 Relationship between two lines

1. The lines intersect in one point. In this case,
the system has a unique solution.
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1.2 Relationship between two lines

2. The lines are parallel. In this case, the system
has no solution.
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1.2 Relationship between two lines

3. The lines are identical. In this case, every
point on the line is a solution, and so the
system has infinitely many solutions.
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1.2 Relationship between two lines

4. Perpendicular lines.
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1.-2x + 3y = 6

In the xy-plane, the graph of which of the following
equations is perpendicular to the graph of the preceding
equation?

A3x +2y =6

B3x+4y =6

C2x+4y =6
D.2x + 6y = 3
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4.2x + 3y =5 4x + cy = 8

In the system of equations above, c is a constant. For
what value of c will there be no solution (x, y) to the
system of equations?

A3
B.4
C.5
D.6
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